Balance each of the following equations. If the coefficient isal, leave the
space for it blank.

1, Hz + 0 > H.0

2 _CHs+ ___ 0, > ___ _€CO, + ____HO
3___Na+__ HO—> ___ NaOH + __H>

4, K+ I.> ____KI

5. C+ O,—» ____CO

6. Zn + HCl—» ____ZnCl; + ____Ho

7. Nz + Ho— ____ NHs

8. H20: > _ H0 + O

9. Fe + HNO3z —» ____ Fe(NOs3), + ___ Hq
10__H,+ __ Bro—> ____ HBr

11.__KNO3—> _____KNO; + ___ 0>

12 _CaBr, + _ HSO4—> _ CaSO4 + _____HBr
13.__ C12H22011 — C+ H20

14_ HO0+___ SO3—> ____ H»S04

15 _HCl +___ CaCO3—> _____CO+___ _H0O+___ CaCl;

16._NH3 + HCl — NH4C|

17. Al + HI — AlIs + Hz

18.__ Mg+ H3POs —» __ Mg3(POs)2+ ___ H>




19. Cu+ AgNO3 —> Ag + CU(NO3)2

20.__ Ca+ Pb(NO3), —» Pb + Ca(NOs);

21 Al+ Pb(NO3); > ____ Pb+___ AI(NO3)3

22.__ 7Zn+ SN(NO3)s — _ Zn(NO3)+___ Sn
23.___Cly+ All; > _ AlClz+____ T,

24.__ Bro+ Cul > ___ CuBr+___TIp

25._ NH4OH+__ FeClz— _ NHiCl+___ Fe(OH)3

26. KBr + Pb(NO3)2 - KNOs + PbBr;

27._A|C|3 + H2S04 — A|2(504)3 + HClI

28.__ Al(S04)s + BaCl; — BaSO4 + AlCl5

29._N02603 + CGCIz - CGCOs + Nacl

30._C4H1o + Oz —> COz + HzO

Answers:

12,12 2)12,12 3)222,1 42,12 52,12 6)1,2,1,1 7)1,3,2 8221 9)1,2,1,1 10)1,1,2
11)2,2,1 12) 1,1,1,2 13) 1,12,11 14) 1,1,1 15)2,1,1,1,1 16) 1,1,1 17)2,6,2,3 18)3,2,1,3 19) 1,2,2,1
21) 1,1,1,1 21)2,3,3,2 22)2,1,.2,1 23)3,2.2.3 24)1,2.2,1 25)3,1,3,1 26)2,1,2,1 27)2.3.1,6

28) 1,3,3,2 29) 1,1,1,2 30) 2,13,8,10



